=  ListLinePlot[{Transpose[{tim[[205]], ©.1 * mcpamp[[205]]}],
Transpose[{tim[[205]], hfsamp[[205]]}1},
PlotRange » {{-20, 20}, Full}, ImageSize - Large]
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n-1=  blhfs = Table[Mean[Take[hfsamp[[i]], 5000]], {i, nevents}];

In[e]:= noisehfs =
Table[RootMeanSquare[Take[hfsamp[[i]], 5000] - blhfs[[i]]], {i, nevents}];

n-=  Histogram[noisehfs]
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mp=  tjitter = 1. * (Mean[noisehfs] / 0.018)
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pkhfs = Table[Max[hfsamp[[i]]], {i, nevents}];
=  Histogram[pkhfs, {0.006, 0.1, 0.001}]
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mn-=  ListLinePlot[{Transpose[{tim[[205]], hfsamp[[205]]1}1},
PlotRange -» {{8, 12}, Full}, ImageSize - Large]
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